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Ways to balance the government budget 
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Nb: Survey among the residents 
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Ways to balance the government budget 
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 The main approach cited by the residents and the commuters to balance the gouvernement budget is to 

reduce government expenditure. 

 

 The second most popular approach is to adapt social spending according to the income level of the 

household – social selectivity 

 

 The most appreciated measures are those proposing a reduction of public expenditure 

 

 Contrary, an increase in taxes is according to the poll not the most popular measure to balance the 

government budget 

  

  

  



TNS ILRES  - Sondage OUR VISION  

© TNS   octobre 2012 06-12-194 

How to avoid to make the future generation pay for the 
pension debt 
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Nb: Sondage auprès des résidents 
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Que faire pour ne pas léguer la dette des pensions aux 
générations futures ? 
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 Implementing a ceiling for the pensions is accepted by (only) 56% of the population 

 

 4 out of 5 citizens are against a general reduction of the pensions 

 

 There seems no clear measure which could solve the problem 

 Only a third would be willing to work a bit longer 

 Only 1 out of 5 would accept an increase in the level of contributions 

 

 What is the level of awareness of the citizens regarding the gravity of this issue and the readiness to find a 

solution among the citizens? 
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Results for the cross-border 
workers 
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Ways to balance the government budget 
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Nb: Survey among the cross-border workers 
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How to avoid to make the future generation pay for the 
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